

Werk

Label: Article **Jahr:** 1979

PURL: https://resolver.sub.uni-goettingen.de/purl?316342866_0020|log44

Kontakt/Contact

<u>Digizeitschriften e.V.</u> SUB Göttingen Platz der Göttinger Sieben 1 37073 Göttingen

COMMENTATIONES MATHEMATICAE UNIVERSITATIS CAROLINAE 20,3 (1979)

ON DOMINATION PROBLEM IN BANACH ALGEBRAS VIadimír MULLER

Abstract: We give an example of a commutative Banach algebra A with elements $u,v,w\in A$ such that $|ux| \le |vx| + |wx|$ for every $x\in A$ and there exists no commutative Banach algebra B containing A as a subalgebra and elements $b,c\in B$ such that u=bv+cw. This gives the negative answer to the problem of Zelazko [4].

Key words: Banach algebras, ideals.

AMS: 46H05

Introduction. Let A be a unital commutative complex Banach algebra, let u, v_1, \ldots, v_n ($1 \le n < \infty$) be elements of A. As in [4] we say that u is dominated by elements v_1, \ldots, v_n if there exists a constant $k \ge 0$ such that $|ux| \le k \cdot \sum_{i=1}^{\infty} |v_ix|$ for every $x \in A$.

Let A, B be unital commutative complex Banach algebras. We say that B is an isometric extension of A if there exists a unit preserving isometric isomorphism from A into B. In this case we consider A as a subalgebra of B and write $A \subset B$.

Let $A \subset B$, $u, v_1, \dots, v_n \in A$. Let $u = i \stackrel{\mathcal{D}}{\geq}_1 b_i v_i$ for some $b_i \in B$. Then $|ux| \leq i \stackrel{\mathcal{D}}{\geq}_1 |b_i| |v_i x| \leq k \cdot i \stackrel{\mathcal{D}}{\geq}_1 |v_i x|$ for each $x \in A$, where $k = \max(|b_1|, \dots, |b_n|)$. So u is dominated by the elements v_1, \dots, v_n . In [4] (Problem 9), the question was raised whether the converse statement is true. More precisely:

Let $u, v_1, \ldots, v_n \in A$, let u be dominated by v_1, \ldots, v_n . Does it follow that in some isometric extension BoA there are elements b_1, \ldots, b_n such that $u = \sum_{i=1}^{n} b_i v_i$? The answer is positive for n = 1 ([1]) and also for arbitrary n in special Banach algebras ([5]). In the present paper we give an example that this is not true for n = 2 (and of course for $n \ge 2$) in general Banach algebras.

<u>Lemma</u>. There exists a unital commutative complex Banach algebra A satisfying the following conditions:

- 1) There are (distinct) elements u, v, w, a_{ij} (i, j = 0,1,2,...) in A generating A.
- 2) $u^2 = v^2 = w^2 = uv = uw = vw = 0$, $a_{i,j}a_{km} = 0$ for every i, j, k, $m \ge 0$

3)
$$a_{ij}^{u} = a_{i-1,j}^{v} + a_{i,j-1}^{w} (i,j \ge 1)$$

 $a_{i,o}^{u} = a_{i-1,o}^{v} (i \ge 1)$
 $a_{o,j}^{u} = a_{o,j-1}^{w} (j \ge 1)$

4)
$$|a_{ij}| = 2^{-(i+j)^2}$$
 (i, j ≥ 0), $|a_{0,0}u| = 1$

5) u is dominated by v, w.

Construction: Let S be the free commutative semigroup with unit 1 and zero element 0 (0s = 0 for each $s \in S$) and with generators u', v', w', a', ij (i, j = 0,1,2,...) satisfying u'² = $v'^2 = w'^2 = u'v' = u'w' = v'w' = 0$, $a'_{i,j}a'_{km} = 0$ (i, j, k, m = 0). Put |u'| = |v'| = |w'| = 1, $|a'_{i,j}| = |a'_{i,j}u| = |a'_{i,j}v| = |a'_{i,j}v| = 2^{-(i+j)^2}$ for every i, $j \ge 0$.

Let B be the &1 algebra over semigroup S with this norm,

i.e. B is formed by formal linear combinations

(1)
$$\mathbf{x} = \lambda_0 + \lambda_1 \mathbf{u}' + \lambda_2 \mathbf{v}' + \lambda_3 \mathbf{w}' + i = 0 \quad \lambda_{ij} \dot{a}_{ij}' + \sum_{i,j=0}^{\infty} (\mu_{ij}^{(1)} \dot{a}_{ij}' + i = 0 \quad \mu_{ij}^{(2)} \dot{a}_{ij}' + i = 0 \quad \mu_{ij}^{(3)} \dot{a}_{ij}'$$

where $\lambda_0, \ldots, \lambda_3$, λ_{ij} , $(\mu_{ij}^{(k)})$ (k = 1,2,3, i,j = 0,1,...) are complex numbers and

$$|\mathbf{x}| = \sum_{i=0}^{3} |\lambda_{i}| + \sum_{i,j=0}^{\infty} |\lambda_{ij}| 2^{-(i+j)^{2}} + \sum_{k=1}^{3} \sum_{i,j=0}^{\infty} |\mu_{ij}| |2^{-(i+j)^{2}} < \infty.$$

Clearly B with this norm is a unital commutative Banach algebra. Let IcB be the closed ideal generated by elements $a'_{i,j}u' - a'_{i-1,j}v' - a'_{i,j-1}w' \ (i,j \ge 1)$, $a'_{i,o}u' - a'_{i-1,o}v' \ (i \ge 1)$ and $a'_{o,j}u' - a'_{o,j-1}w' \ (j \ge 1)$. Denote A = B|I, u = u' + I, v = v' + I, w = w' + I, $a_{i,j} = a'_{i,j} + I \ (i,j = 0,1,...)$. We prove that A satisfies all the conditions required.

Conditions 1), 2) and 3) are trivial. Let us notice that if $x \in B$, x has the form (1), then

(2)
$$\|\mathbf{x} + \mathbf{I}\|_{\mathbf{A}} = \frac{3}{\sqrt{2}} \|\lambda_{\mathbf{i}}\| + \frac{\infty}{i, \frac{5}{2}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} + \|\mu_{00}^{(1)}\| + \frac{1}{\sqrt{2}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} + \|\mu_{00}^{(1)}\| + \frac{1}{\sqrt{2}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} + \|\mu_{00}^{(1)}\| + \frac{1}{\sqrt{2}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} + \frac{1}{\sqrt{2}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} + \frac{\infty}{\sqrt{2}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} + \frac{1}{\sqrt{2}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} + \frac{1}{\sqrt{2}} \|\lambda_{\mathbf{i}\mathbf{j}}\|^{2^{-(\mathbf{i}+\mathbf{j})^{2}}} \|\lambda_{\mathbf{i}\mathbf{$$

(Here we put $a_{km} = a'_{km} = 0$ for min (k,m) < 0.)

From formula (2), the condition 4) immediately follows. Further, it holds

(3)
$$|a_{i,j}u| = 2^{-(i+j)^2} (i, j \ge 0)$$

 $|a_{i,j}v| = 2^{-(i+j)^2} (i \ge 0, j \ge 1)$
 $|a_{i,j}w| = 2^{-(i+j)^2} (i \ge 1, j \ge 0)$
 $|a_{i,o}v| = |a_{i+1,o}u| = 2^{-(i+1)^2} (i \ge 0)$
 $|a_{o,j}w| = |a_{o,j+1}u| = 2^{-(j+1)^2} (j \ge 0)$.

It remains to prove the condition 5). Let $x \in B$ have the form (1), $y = x + I \in A$. Then by (2),(3)

$$|yu_{A}| = |xu + I|_{A} = |\lambda_{o}u' + \sum_{i,j=0}^{\infty} \lambda_{ij}a'_{ij}u' + I|_{A} = |\lambda_{o}| + \sum_{i,j=0}^{\infty} |\lambda_{ij}|^{2-(i+j)^{2}},$$

$$|yv|_{A} = |xv' + I|_{A} = |\lambda_{o}v' + \sum_{i,j=0}^{\infty} \lambda_{ij}a_{ij}v' + I|_{A} = |\lambda_{o}| + \sum_{i=0}^{\infty} \sum_{j=1}^{\infty} |\lambda_{i,j}|^{2^{-(i+j)^{2}}} + \sum_{i=0}^{\infty} |\lambda_{i,o}|^{2^{-(i+1)^{2}}},$$

$$|\mathbf{y}\mathbf{w}|_{\mathbf{A}} = |\mathbf{x}\mathbf{w}' + \mathbf{I}|_{\mathbf{A}} = |\lambda_{0}\mathbf{w}' + \sum_{i,j=0}^{\infty} \lambda_{ij}\mathbf{a}'_{ij}\mathbf{w}' + \mathbf{I}|_{\mathbf{A}} = |\lambda_{0}| + \sum_{i=1}^{\infty} \sum_{j=0}^{\infty} |\lambda_{ij}|^{2^{-(i+j)^{2}}} + \sum_{j=0}^{\infty} |\lambda_{0,j}|^{2^{-(j+1)^{2}}}.$$

From this immediately follows $|yu| \le |yv| + |yw|$ for every $y \in A$, hence u is dominated by v, w. Note that u is not dominated by v. It is $|a_{i,o}u|/|a_{i,o}v| = 2^{-i^2}/2^{-(i+1)^2} = 2^{2i+1}$ which forms an unbounded sequence. Similarly, neither u is dominated by w.

Theorem. Let A be the Banach algebra from the previous Lemma. Let C be any isometric extension of A. Then there

exist no b, $c \in C$ such that u = bv + cw.

<u>Proof</u>: I. Let k>0 be fixed. Let B_k be the ℓ^1 algebra over the free commutative semigroup with generators b_k , c_k with coefficients in A, i.e. B_k consists of elements of the form $\mathbf{x} = \sum_{i,j=0}^{\infty} \mathbf{x}_{i,j} b_k^i c_k^j$, where $\mathbf{x}_{i,j} \in A$ (i, j \geq 0) and $|\mathbf{x}|_{B_k} = \sum_{i,j=0}^{\infty} |\mathbf{x}_{i,j}|_A \cdot k^{i+j}$.

Algebraic operations in B_k are defined as follows: For $y = \sum_{i,j=0}^{\infty} y_{i,j} b_k^i c_k^j$ it is $x + y = \sum_{i,j=0}^{\infty} (x_{i,j} + y_{i,j}) b_k^i c_k^j$, $xy = yx = \sum_{m,m=0}^{\infty} b_k^m c_k^n (\sum_{i,j=m} x_{i,j} y_{i',j})$.

Clearly B_k is a Banach algebra, $B_k \supset A$. Denote $\mathbf{z} = \mathbf{u} - \mathbf{b_k v} - \mathbf{c_k w}$. Let $\mathbf{J} = \overline{\mathbf{z}} \mathbf{B_k}$ be the closed ideal generated by \mathbf{z} . Denote $\mathbf{d} = \mathbf{z} \mathbf{b_k} \mathbf{c_k}$ where $\mathbf{a_{i,j}}$ are elements from the previous Lemma. It holds

$$\begin{aligned} |d|_{B_{k}} &= i \sum_{j=0}^{\infty} |a_{i,j}|_{A} \cdot k^{i+j} = i \sum_{j=0}^{\infty} 2^{-(i+j)^{2}} \cdot k^{i+j} = \sum_{m=0}^{\infty} 2^{-m^{2}} \cdot k^{m}(m+1) < \infty \quad \text{So } d \in B_{k} \text{. We have} \\ dz &= (i \sum_{j=0}^{\infty} a_{i,j} b_{k}^{j} c_{k}^{j}) (u - b_{k} v - c_{k} q) = a_{0,0} u + i \sum_{j=1}^{\infty} b_{k}^{j} (a_{i,0} u - a_{i-1,0} v) + i \sum_{j=1}^{\infty} c_{k}^{j} (a_{0,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j=1}^{\infty} b_{k}^{j} c_{k}^{j} (a_{i,j} u - a_{0,j-1} q) + i \sum_{j$$

II. Suppose now on the contrary that there exists a Banach algebra C containing A as a subalgebra and b, $c \in C$ such that u = bv + cw. Choose $k \ge max$ (|b|, |c|). Define a homomorphism $f: B_k \longrightarrow C$ by $f(\sum_{i,j=0}^{\infty} x_{i,j}b_k^ic_k^j) = \sum_{i,j=0}^{\infty} x_{i,j}b^ic_i^j$. It is $\begin{vmatrix} x_{i,j=0} \\ x_{i,j=0} \end{vmatrix} x_{i,j}b^ic_i^j \begin{vmatrix} x_{i,j=0} \\ x_{i,j=0} \end{vmatrix} x_{i,j}b^ic_k^j \end{vmatrix}_{C} = \begin{vmatrix} x_{i,j=0} \\ x_{i,j=0} \end{vmatrix} x_{i,j}b_k^ic_k^j \end{vmatrix}_{B_k}$.

So the definition of f is correct and $|f| \leq 1$. Clearly

 $f(b_k) = b$, $f(c_k) = c$ and f|A is the identical mapping (we identify elements of A with the corresponding elements of B_k and C, respectively). It holds $f(z) = f(u - b_k v - c_k w) = u - bv - cw = 0$, so f(J) = 0. Hence $f(a_{0,0}u) = 0$. On the other hand, $a_{0,0}u \in A$ and f|A is the identical mapping. Necessarily $a_{0,0}u = 0$ which contradicts the condition 4) of Lemma.

Remark 1: A Banach algebra B is called an extension of a Banach algebra A if there exists a unit preserving topological isomorphism of A into B. It is easy to see that the words "isometric extension" in the Theorem can be replaced by "extension". The proof in this case is the same. Note also that every extension C of A becomes an isometric extension after a suitable renorming of C (see [2]).

Remark 2: The following question still remains open: Let 1 (unit element of A) be dominated by $v_1, \dots, v_n \in A$. Does it follow that $1 = \sum_{i=1}^{n_v} b_i v_i$ for some extension B of A and some $b_i \in B$?

This question is equivalent to Problem 5 of [4]: Does every non-removable ideal in A consist of joint topological divisors of zero?

For related topics see also [3].

References

- [1] R. ARENS: Extensions of Banach algebras, Pacific J. Math. 10(1960), 1-16.
- [2] J.A. LINDBERG: Extensions of algebra norms and applications, Studia Math. 40(1971), 35-39.
- [3] W. ZELAZKO: Banach algebras, Elsevier-Publishing Company (Polish Scientific Publishers, Amsterdam-London-

New York) Warszawa, 1973.

- [4] W. ZELAZKO: On some classes of ideals in commutative Banach algebras, Rend. Sem. Mat. Fis. Milano (in print).
- [5] W. ZELAZKO: A domination theorem for function algebras (to appear).

Matematický ústav ČSAV Žitná 25, 11567 Praha 1 Československo

(Oblatum 23.2. 1979)

